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B. Tech I Year Examinations, May/June -2012
ENGINEERING DRAWING
(COMMON TO ALL BRANCHES)
Time: 3 hours Max. Marks: 75 -
~AusWer any five questions
All questions carry equal marks
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l.a) A cricket ball 1s thrown vertically up, 1t reaches a maximum height of 15 meters and falls
on the ground at a distance o meters from pirnt of frglection of the ball till it reaches
the ground. Draw the path fo_ llowed by the cricket ba_ﬁ and name the curve.
b) Construct a scale of 1:5 to show decimeters and centimeters and long enough to measure

up to 1m. Show a distance of 6.3 dm on it. - [15]
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2. mm on% me AB is parallel to and 40 mm abqu_tye H'P‘ES two ends are i mm
_ and 50 mm 1n front of the V.P. respecti\:_e'ly. Draw its brqjé:}ions and find its inclination

with the V.P and show traces. [lﬁ

3. A square _Flramid, having a base with a 40 mm side and a 75 mm long axis, has a

trlangular ace in-thﬂ P_ arﬁ | an aléi_iliagz 1n_c‘11ned plane passing through the a)g_if__ mal{e‘s

an angle of 45" with the H.P. Draw 1ts projections when its base 1s closer to the H.P. than
to 1ts apex. [15]
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4. A cylinder, with a 50 mm diameter and a 70 mm long axis, is resting on its base on the

H.P. It is cut by a section plane inclined at 45° to the H.P. and perpendicular to the V.P.,
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of the section on an A.LP. parallel to the section plane. 15
.\_" 1"'-\. - -
W Va N - . e

S. A vertical cylinder of diameter 80 mm is completely penetrated by another cylinder of
60 mm diameter, their axis bisecting each other at right angles. Draw their pgojg:ctlons

showing curves of penetration, assumin&the axis of the_Renetrating cylinder to be parallel
toV.P. T o B S [15] o
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6. A sphere wﬁ!f a 50 mm diameter rests centrally over a cube with a 60 mm side. Draw its
isometric view. L [15]
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7. Draw the following views of the block shown in figure. All dimensions are in mm.
a) Front View
b) Top View

c) Right side view. [15]
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8. Draw the perspecti\:cL view of a stralgHt |1ne1AB, 35 mm long parallel to both the
picture plane and ground plane, and 7 mm above the grounga plane, and 18 mm

—

behind the picture Blane. The station point is 50 mm in front of the picture plane,

36 mm above the ground plane and is contained by a central plane 16 mm to the
left of end A. [15]
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